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Mkq[Lkk : (1) çkÄk «§ku Mk{kLk økwý Ähkðu Au.
(2) «§Ãkºk{kt ËþkoÔÞk «{kýu sðkçkLkku ¢{ ykÃkku.
(3) sYh nkuÞ íÞkt ykf]ríkLkku WÃkÞkuøk fhku.
(4) sðkçk {wÆkMkh yLku «§Lku yLkwYÃk nkuðk òuRyu.

1. “WíÃkkËLk ¾[o{kt íkVkðík yktíkhhk»xÙeÞ ðuÃkkh {kxuLkwt fkhý Au” xefkí{f [[ko fhku. (14)

yÚkðk

1. ðuÃkkhLke þhíkku yux÷u þwt ? Ëh¾kMík hu¾kykuLke {ËËÚke ðuÃkkhLke þhíkkuLkwt rLkÄkohý fuðe heíku
ÚkkÞ Au íku Mk{òðku.

2. Mkhtûký Lkerík yux÷u þwt ? MkthûkýLke íkhVuýLke - (14)
(y) çkk¤ Wãkuøk ytøkuLke Ë÷e÷ yLku
(çk) ÷uýËuýLke íkw÷kLke Ë÷e÷ {ÞkoËk Mkrník Mk{òðku.

yÚkðk

2. rðrLk{Þ Ëh ytøkuLkku Mk{¾heË þÂõíkLkku rMkæÄktík Mk{òðe íkuLke {ÞkoËkykuLke [[ko fhku.

3. Lke[uLkk{ktÚke fkuRÃký çku Lkk W¥kh ykÃkku. (14)

(y) ÷uýËuýLke íkw÷k{kt yMk{íkw÷kLkk fkhýku
(çk) ÷uýËuýLke íkw÷kLke ¾kã rLkðkhðk{kt yð{qÕÞLkLke Lkerík fÞk Mktòuøkku{kt MkV¤ çkLke þfu ?
(f) ÃkrhðíkoLkþe÷ rðrLk{ÞËhLke íkhVuýLke Ë÷e÷ku.

yÚkðk

3.. (y) çkòhíktºkLke {ÞkoËkyku [[kuo.
(çk) ònuhðMíkwLkk ÷ûkýku Mk{òðku.
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4. (y) ðÄíkk ònuh¾[oLkk fkhýku ykÃkku. (14)

(çk) hkßÞLke ykðfLkk rðrðÄ MkkÄLkkuLke Mk{sqíke ykÃkku.
yÚkðk

4. fhðuhkLke WíÃkkËLk yLku ðnU[ýe ÃkhLke yMkhku ðýoðku.

5. Lke[uLkk{ktÚke øk{u íku çku Ãkh xqtfLkkutÄ ÷¾ku : (14)

(1) ònuh ËuðkLkku çkkus.

(2) ¾kãÃkwhðýeLkk ¼ÞMÚkkLkku

(3) fhMktÃkkíkLke ðnU[ýeLku yMkh fhíkkt Ãkrhçk¤ku.

(4) Ãkhkuûk fhðuhkLkk ÷k¼k÷k¼

(5) fhðuhkLkku “þÂõík” ytøkuLkku rMkæÄktík.
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Instructions : (1) All questions carry equal marks.

(2) Write answer numbers, as given in question paper.

(3) Use suitable diagrams if necessary.

(4) Answers must be relevant and to the point.

1. “Difference in cost of production is the cause of international trade.”- (14)

Discuss critically.

OR

1. What is meant by terms of trade ? Explain how offer curves determine the
terms of trade.

2. What do you understand by the policy of protection ? (14)

Explain critically-

(a) Infant industry argument and

(b) Balance of Payment argument in favour of protection.

OR

2. Explain the purchasing power parity theory of the rate of exchange and discuss
its limitations.

3. Answer any two of the following. (14)

(a) Causes of disequilibrium in balance of payments.

(b) Under which circumstances can devaluation policy succeed in correcting
deficit in the balance of payments ?

(c) Arguments in favour of flexible exchange rate.

OR

3. (a) Discuss the limitations of market mechanism.

(b) Explain the characteristics of public goods.
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4. (a) Give reasons for increasing public expenditure. (14)

(b) Explain various sources of public revenue.

OR

4. Describe the effect of taxation on production and distribution.

5. Write short note on any two of the following : (14)

(1) Burden of public debt.

(2) Dangers of deficit financing

(3) Factors affecting the incidence of tax.

(4) Advantages and disadvantages of indirect taxes.

(5) Principle of “ability to pay” regarding taxation.
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